Can We Live Together?
Subject:  Science

Length:  15 minutes

Location: Indoors/Outdoors

Materials:  samples of mistletoe, Spanish moss, and lichen (or pictures)

Objectives:  To demonstrate different lifestyles of plants.  To understand concept of symbiosis.

Method:  After discussion, students will play a quick-draw game.

Background:  Symbiosis is two things living together.  There are three types of symbiosis:  mutualism(both benefit), commensalism (one benefits, no effect on the other) and parasitism (one benefits, one suffers).  In the maritime forest there are living examples of each.

Lichens are examples of mutualism.  Lichens are composed of algae (the food maker) and fungus (the nutrient provider). An easy way to remember it is to tell the story of Alice and Freddy:  “Alice Algae and Freddy Fungus took a “lichen” to each other and now their marriage is on the rocks (they often grow there) because she’s driving him up a tree (found there too).”  Both algae and fungus benefit from living together.  One type of lichen seen on Cumberland Island is pink – bubble gum lichen – made up of bacteria and fungus.  Reproductive bodies give bubble gum lichen its pink color.
Spanish moss is an example of commensalism.  It is an epiphyte – an air plant.  This relative of the pineapple uses the tree for support.  As it hangs around the forest, the wind brings dust and moisture for its use.  The moss benefits by hanging in the air but the tree is not affected.

Mistletoe is an example of parasitism.  Its roots go into the tree, tapping the tubes for sap.  This Christmas plant gets its food from the tree, but causes the tree to lose vital food.  If enough mistletoe grows on a tree, it can kill the tree.
Procedure

-Explain the concept of symbiosis and the three subgroups: commensalisms, mutualism and parasitism.

-Show students the examples (either real or pictures).  Explain how they are living examples of these concepts.

-Have students demonstrate “feelings” of a tree if that type of plant were growing on it.  For example, A tree might be sad if mistletoe was growing on it.

-Three students at a time will be involved.  One student will be pointed at randomly and one of the three plants (lichen, mistletoe, or Spanish moss) called out.  That student represents the tree and the two students on either side will be the plant that has been called out.  They should hook elbows and each must show the correct facial reaction.  For example:  a student is pointed out and lichen is said.  The “tree” has no reaction (no effect) and the two students on either side are happy (they get support).

-On the count of three, those students must yell out the type of symbiosis.

-Quickly turn to another student and call out another.  Keep it moving so students are not standing still for long and have to think fast.

Evaluation

Have students define the following:  symbiosis, commensalisms, mutualism and parasitism.

